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R0 Ol |x O O O 0 O O O O O
- s |5 S
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FA: HEX

o
[

Ha: MRNEYAYS
Sl MEBHSZARY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %E& HRE2
OINAUMHUHAA =22 70
OCEHIIEZE Ml =2 1,000
Q&I MNMEEZ2 1,000
OXlote FE XA 5,000
OJIAHEHl, AME2 § RABx=22l 9,492
04 ASE=2X M Al AHI 8,500 8,730 A 230
OEXZAE 8,500
—J|= 6,200
H ek A 5,500
ugx 700
— B X+ 600
- RYIE 300
— 3Kt O Ak 450
—2XI0E 950
202 o4 | 3,000 2,000 1,000
01 2L I 3,000 2,000 1,000
OAFA &0 H| 3,000
206 M 2 Hl 1,500 1,000 500
01 X2 H| 1,500 1,000 500
0oZ28 ¢ 1,500
AZRAX0IEAXH 28,800 25,200 3,600
J| 20,160
= 4,320
= 4,320
301 et A= 28,800 25,200 3,600
J| 20,160
= 4,320
= 4,320
01 M EXEE 252 28,800 25,200 3,600
OAZx 2% 0124 28,800
J| 20,160
& 4,320
= 4,320
2N 84 7,700 7,700 0
= 2,310
= 5,390
307 2Iz2to| & 7,700 7,700 0
== 2,310
= 5,390
02 QIZHAAAIE E X 7,700 7,700 0
OZ&HNEX 29 7,700
o= 2,310
= 5,390
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SN BETAD
o HMSUSYA s
Cholr MBS ZAEE

A - ER(EN) - AR - B of & o4 SSa HIDZ2

Ya=2E MEE 54 329,000 405,000 76,000
= 19,000
= 310,000

301 €EtE A= 329,000 405,000 276,000
= 19,000
T 310,000

noizsta - 2S4S 329,000 405,000 276,000
Oga=a AHA8 4 329,000
= 19,000
[Ea 310,000

HEHUSANEXE (HE) 350,000 0 350,000
Xl 350,000

401 AIEHI L 2CHYI 350,000 0 350,000
Xl 350,000

01 Al £ HI 350,000 0 350,000
OAMBIOIZAHNSE HE AL 350,000
Xl 350,000

dd= NHOIEE2H =5 36,389 0 36,389

401 AlEHIZ R0 1] 36,389 0 36,389

01 Al&HI 36,000 0 36,000
Od=+ HE=SI0E=ZE 2E EXNEYS 36,000

03 AlE 2 THHI 389 0 389

Od=s M= HOESEH HY EXNEYS

36,000,000%1.08% 389

MEBHSAE &3S (XH) 85,756 0 85,756

308 XXM SO0IM 15,000 0 15,000

08 WHII20Het 2 X 15,000 0 15,000
oNgd 2321+ &X 15,000

401 AIEHI L 2CHYI 70,756 0 70,756

01 AlZHI 70,000 0 70,000
OsS3 dEMSAE &5 20,000
OHXd =" MEANE £ 50,000

03 AlE 2 THHI 756 0 756
Osz2 dEMSAE &F  20,000,000%1.08% 216
OHXd =8 MEANE £X 540

gdssHM 7= 24,000 26,000 A2,000
= 9,600
Ea 14,400

A NFNUEAE 24,000 26,000 A2,000
= 9,600
[Ea 14,400

gdus AsSAE N3 14,000 14,000 0
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2N
X ZH -
L= B

el

08/ 08l 02t

XA
dSsHM 2=
HNFUSALY

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
= 5,600
= 8,400
301 LBt A= 14,000 9,800 4,200
< 5,600
= 8,400
11 IIEtE &2 14,000 9,800 4,200
OZBMSES0te AAE 14,000
o= 5,600
= 8,400
HOEHnEs 2483 XN 10,000 12,000 A 2,000
= 4,000
iy 6,000
301 dEtE A= 10,000 8,400 1,600
o= 4,000
= 6,000
11 IIEtE &2 10,000 8,400 1,600
O4do2ins g43 N 10,000
= 4,000
= 6,000
HESHAL (™ X ) 10,001,333 9,599, 308 402,025
ol 2AH | 9,939,533 9,543,988 395,545
SNl HdR2FX X 68,000 68,020 A 20
203 & R =&t 68,000 68,020 N 20
01 J|2A29 PR =&Y 52,800 52,800 0
o=z 52,800
02 HRAIINMYRFAH| 15,200 15,220 N 20
oz 15,200
AUMAHB 1,900,000 2,114,493 N 214,493
303 &3 1,900,000 2,114,493 ~214,493
02 A= 1,900,000 2,114,493 N 214,493
O8an2 1,900,000
SHOIAYIN oE2H 7,187,387 6,572,267 615,120
304 2ZRE3S 7,093,387 6,480,267 613, 120
01 3223 5,881,268 5,335,213 546,055
odzZ2erg2 37,176,618,000& *8.25% 3,067,071
(@)=FSi=: 37,176,618,0002! x4 . 167% 1,549,150
O xaY 22 37,176,618,000& x3.2638% 1,213,371
OMalEa 242 37,176,618,000& 0. 139% 51,676
02 20AHALEE S 1,212,119 1,145,054 67,065
O=20AHAEEHZ 37,176,618,000& *3.06% 1,137,605
OINYEBE2 1,137,605,000& *6.55% 74,514
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2N
X ZH -
L= B

el

ro o2 o

XA
H2gZu(#8X¥L)
g2l

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
307 212t01 & 94,000 92,000 2,000
07 H2X23 94,000 92,000 2,000
0228 2 Z2ANS ANYZEAS
3,200,000& *20H 64,000
OZ22d Moeg=2 10,000, 000& *3H 30,000
SIOAHE2E2X oE2H 784,146 789,208 AN5,062
101 @121 637,500 660,943 N 23,443
03 I HLZ22 NHE 637,500 660,943 N 23,443
O=00dz 22 4,500,000,000& *4.5% 202,500
oOlnssggs 82 4,500,000,000& *1.5% 67,500
OMA B8 s 243
4,500,000,000& *1.5% 67,500
og a3z 300,000,000& 1 300,000
304 A= RE2S 146,646 128,265 18,381
02 20AHALE =S 146,646 128,265 18,381
O=0HLLZEZ 4,500,000,000& *3.06% 137,700
OINABE2 136,575,000& *6.55% 8,946
| 2Z& I 61,800 55,320 6,480
HEXS DL JI=2FHl 61,800 55,320 6,480
201 et A | 23,040 23,040 0
01 AFR22t2ldl 23,040 23,040 0
O Ml &t 18,810,000& =1 18,810
OSH Al 4,230,000& =14 4,230
202 (4] 34,560 28,080 6,480
01 2L Y] 34,560 28,080 6,480
OSH 0l & 34,560,000& 14 34,560
203 ¥R =&t 4,200 4,200 0
04 ENSIHRF=AY| 4,200 4,200 0
OfMded 4,200,000& =14 4,200
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